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D 13.86 +4.2 2)25.92 + 7.2 ® 25.16+7.4

@ 9.36 + 3.6 ® 3.375+1.25

B

@ 13.86 + 4.2 = 138.6 + 42 = 3.3
@ 25.92+7.2=2592+72=3.6
® 2516 +74=251.6+74=34
@ 9.36+3.6=93.6+36=2.6

® 3.375+1.25 = 337.5 + 125 = 2.7




6. 9 417E WS w, & 4% A A TS wo] o]
9 g 24 BA Ael7hA FHS Wo] YA o] A5 FahAl L.

> E:

> ®eh: 0.0417

B

9+4.175 At K& 25 HA A=7HA
TFRE o A= 0.077 YU

& 2 A A7 TS T

U 2] 0.0353 YUY o

=9 22 FHEE 5 ZEYh

0.077 - 0.0353 = 0.0417




19.58 + 8.7 & A<
Z1012] 12X Q.

@ 87%x2+21
@8.7 x2+2.18

D 8.7x2+0.18
® 8.7x2+0.218

® 8.7%x2+0.21
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wHebA] 19.58 + 8.7 = 2---2.18 O] HAHA2
8.7x 2+ 218Utk

259 WeAle A4tste], B3t Ueix g gagich
<A : (B) x (Hres)+(HHA)= (HrelRles)




8. (TOW)=(Fh+(F:7h 2 o, Th&-E At L.

(1.8 0.36) ©0.26

>
> &b 2005

1.800.36 = (1.8 + 0.36) + (0.36 + 1.8) = 5+ 0.2 = 5.2
5200.26 = (5.2 + 0.26) + (0.26 + 5.2) = 20 + 0.05 = 20.05
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49x[ ]=30x7

D=21o+49:4g
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15. <4591 39] Wl47 370 QU eh o] Fold 7b Are ot Abg 2
5] B} 5 T 7P AR Sk dukeln] 2L,
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A e 25 et atel Al 2= [ [J+s, (69Ut
[]:]+6)=5:7

[ - ]+6)=5:7,

[ Ix7=(_]+6)x5,

[ Ix7=[]x5+30,

[ ]x2=30,[ |]=15
whebA 714 2he Sk 1594t




16.

ofl
Tlo

(4000 - ] : (1000 +[ =3:2
3:2 = 3000 : 2000 = 3300 : 2200 - -
a28=2, (4000 - ) : (1000 [ J) = 3000 : 2000

4000 -] = 3000, 1000 +[ ] = 2000
[ ]=1000(9Q)¥Ych.




17. 9F7F12.56cm Q1 Lo A2 B em QY 7E?

» E cm

> HE: 2cm

(Ft2]8)=12.56 + 3.14 + 2 = 2cm




78]+ 301.44 cm

(BF74 9] E¥)= 8 x 3.14 = 25.12(cm)
301.44 + 25.12 = 12(¥H)




19. 957} 4396cm3) o] Y&vieh. o] U] Hols FoHA L.
» E cm?

> A 153.86cm?

Ao Hx] &= 43.96+3.14+2=7
Blo]=7x7x3.14 = 153.86( cm?)
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